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	W1 mean
	Estimate
	p-value

	[Treatment-group = Contol (0)] * [MPI sub-group = ID] * [Time] * [W1]
	1.84
	-0.00676
	0.116

	[Treatment-group = Contol (0)] * [MPI sub-group = DYS] * [Time]  * [W1]
	2.11
	-0.00794
	<0.001

	[Treatment-group  = Contol (0)] * [MPI sub-group = AC] * [Time]  * [W1]
	1.29
	-0.00816
	0.003

	[Treatment-group = Intervention (1)] * [MPI sub-group = ID] * [Time]  * [W1]
	1.82
	-0.01010
	<0.001

	[Treatment-group = Intervention (1)] * [MPI sub-group = DYS] * [Time]  * [W1]
	1.53
	-0.00821
	0.001

	[Treatment-group = Intervention (1)] * [MPI sub-group = AC] * [Time]  * [W1]
	1.51
	-0.00725
	0.010



